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Detailed Results for
Visual Action Prediction

In this document, we illustrate additional qualitative results for visual action prediction in SUN-
Action dataset as described in Section 5 of the ECCV’14 paper. We show results for all 38 considered
action classes. For each action class C we show Precision-Recall and ROC curves corresponding to our
best action predictor ("HOG BoW+ HOG FV+ CSIFT FV”, see Section 5.2). For each class we also
show image examples sorted by the decreasing score of the classifier. The three groups of examples
for each action illustrate high-scoring positives (easy positive examples), low-scoring positives (difficult
positive examples) and high-scoring negatives (difficult negative examples).
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